
Task 1 (30p) Task 2 (34p) Task 3 (36p) Total (100p) Task 1 (32p) Task 2 (34p) Task 3 (34p) Total (100p)

1 JB 24 32 29 85 0
2 TB 0 19 29 48 25 30 33 88
3 MF 12 18 25 55 0
4 TJ 10 25.5 8.5 44 16 26 32 74
5 BK 13 23 32 68 0
6 DK 20 32 33 85 0
7 MM 11 22 12 45 12 18 15 45
8 TN 14 27 25 66 0
9 AŘ 16 31 30 77 0

10 20 15 25 60 0
11 20 31 30 81 0
12 MŠ 18 22 7 47 27 31 31 89
13 SŠ 16 24 29 69 0
14 KT 16 21 18 55 0
15 BV 13 26 23 62 0
16 CJZ 0 0 0 0 0

VP 9 17 17 43
NŠ 11 34 30 75
AS 12 31 23 66

Lineární regrese
Ut, SN

Iniciály

MiS
MaS

For successful completion of the test at least 55 points are needed. 
For successful completion of the retake test at least 60 points are needed. 


